


— N M < W0









(factor) :
(level) :
(factorial factor) :

(



H, T
S={TT,THHT HH}
X X

. X(5)={0, 1, 1, 2}
S X
X X=X(S)
X S



1500
36
1478
1500

1500

1500



(n-1)

(n-1)



>

|

>

N

<

> >

=~

X, =T /0,
X, =Tz I,
M M

X, =k /n,
X, =Te./n,

X =T /n



Xi,j

(0,a)



— (1)
_ )2
X“
: Z
Z
riatior)
lva
fa
(tO
ST

j=1
1
i=

1)

X--
X..

1o :

lvariat

ta

(to

St



Sy v =n-1

(D)
St :ZZ{(XU _Xi.) + (XI — X )}2

=33 (% - X))+ 22 X; - X )_”Zi(xi,. -X:)
X - X0

= X0 - X i(xi- - X0



Se (

Sa (

(® Z(Xij o X| )2
=30 (X - X )

n.—-1)



S = ani(xij - Xi.)z :Zi{(ﬂ +a+g; ) (U + o "’5;.)}2

i=1 j=1 e

Xij =1+ o +g; Xi. =U + +gi.
=2.2.(& — &)
i=1 j=1

K L
:Zni (o — +&; _5")2
i1



n-k






(3) F>F (@) o
A
(4)
S, k-1 V,=S,/k-1 |[F=V,/V.| F(x)
S¢ - Ve =S /n-k
S; n-




(1) A,B
(2)A,B

3)
(4)
()

A:N(u,0°), B:N(u,o%)

n,,n,

X, %K X)), (Y, Y. K y.,)

- 1
X = nlgx y = 1§y.
e 1 -2 N2
O :nl_i_nz_z{izll(xi_X) +;(yi_y)}
X-Y

t =

O

2 [l/n, +1/n,



i U+a . ] u+ao

Ut =uta; o=«

X, =X
T = ve =n-KkK t
JVe@n +1/n))
a =0.05 0.01)
(1)
X, =X | 2ty (@) Ve @ +1/n)
(2)

X, =X |2t 2a) Ve (W, +1/n))



EX)

29,49,69 3
4
ulj — le_77 (77 ) X” u”
Al u;=x; —77 ()?
ARy 74 69 73 67 A -3 -8 -4 -10 -25 625
A(4g) 79 81 75 78 A, 2 4 -2 1 5 25
A(6g)] 82 85 80 79 A 5 8 3 2 18 324

-2 974



CT=(-2)%/12=0.33
- Sy={(-3)H-B)2+(-4)? +(-10)2 +(2? +(4)2 (-2 +(1)2+(5)
+(8)2 +(3)2 +(2)2}- CT=316-0=316

12-1=11
: S ={(-25%/4)+(-5%/4)+(18°/4)- CT=244
3-1=2
P SE=S1-S, =72
11-2=9
244 2 122 15.2 F>(0.05) = 4.26
72 9 8 F>(0.01) =8.02
316 11




29, 49, 69

X> » Xs
X, ='£215 +77=70.25 X, =%+77=78.25
X, = % +77 =81.50

9
. 1,(0.05) =2.262 ,t,(0.01) =3.250
n=n=n=n,=4, v.=8

to(0.05)yVe (1/ 4 +1/4) = 4.524
t,(0.00)V, (1/4+1/4) = 6.500




L¥, Xy
=[70.25-78.25/=8.0 ) t,(0.0)\V. (1/4+1/4) =65

— 1%

2% X
=[70.25-81.25=11.0 ) t,(0.00)\Vc(L/4+1/4) =6.5

— 1%

3%y X3
=[78.25-81.25=3.25 ) t,(0.05)Vc (1/4+1/4) =4.524

—







Bl Bz BJ ' B'

A, STRERSY! Xjj TR X1
A, Xy Xy Xi Xy T, X2
M M M M M M M
Ai Xii X XIJ - X Ti' )_(i-
Ak Xt Xio X Xy Tk. )

T, T, TJ T T

X1 Xz X5 Xy




X. .
1, |
Xi,j: U+ (xi+,8j+ Ei
U
a;, p; : A, B,
&;: 1)

(0,”)



Xi. :inz Z(,u+a +&;)

ni =1 | i=1

:/u-l_ai_'_(c}i. (8 — Zglj)

| i=1

Xj iZ qu =u+a, +<9 (o :—Za. ’5 = Zgu)

n| =l j=1 | i=1 | i=1

S (total variaton)=3" Y(X, -X)? (1)

i1 j=1

S, (total variaton): X, X

1)



S. vy =kl—-1
()

S; ZZZ{(XU‘ _Xi_) + (XI B X )
+ (X.jJr X.,) + (X X_| 'X-j+ )_(“)}2
SIX (X - X ) +k(Xj+ Xy

+2.2.0%;- X; 'X-J' # X))’



A Sa=IY(X; - X ) v, =k-1
B S, = k(Xj + X )2 vy =1-1
Se=Y 3% - X; -Xj+ X

S5 =5, 455 +S¢

— (kI -1)- (k-1)- (I -1) = (k-1)(1-1)



X TR A o Xi :,u+ai+gi

Xj=u+h+& X “ire.

_ 1 |
( gi.:TZ ij J :EZ i ’5_ _klzzg” )
=33 -& &) &)

i=1 j=1

k — —
Sy =) (e +& ~& )
=1

S, =kY (B +Eji~€)



(k=D -1)

(k-1)(I-1)

-1,



A B




